NAME Splashlearn

Thanksgiving Addition or Subtraction

Solve the following word problems.

John bought 12.45 pounds of turkey and 3.75
pounds of potatoes for Thanksgiving dinner. How
many pounds of food did he buy in total?

Sally baked 4.25 pounds of pumpkin pie and 2.56
pounds of apple pie for Thanksgiving. How much
more pumpkin pie did she bake than apple pie?

The Thanksgiving parade lasted for 2.75 hours in
the morning and 1.25 hours in the afternoon. How
long did the parade last in total?

Sarah walked 3.57 miles to a Thanksgiving event
and then walked 1.25 miles to a friend's house. How
far did she walk in total?

The Johnson family used 3.65 pounds of
vegetables and 2.85 pounds of turkey for their
Thanksgiving dinner. How much more vegetables
did they use than turkey?

The Thanksgiving dinner cost $35.45 for the turkey
and $15.72 for the vegetables. What was the total
cost?

During Thanksgiving shopping, the family spent
$56.75 on decorations and $23.50 on groceries.
What was the total expenditure?

At the Thanksgiving carnival, there were 5.75
gallons of cider. After serving 2.50 gallons, how
much was left?
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